	MULTIPLICATIONS 1

Sur ton ardoise, pose et calcule les multiplications ci-dessous :

    13 x 2 =                     31 x 2 = 

    42 x 2 =                     34 x 2 = 


	MULTIPLICATIONS 2

Sur ton ardoise, pose et calcule les multiplications ci-dessous :

    30 x 3 =                     11 x 3 = 

    22 x 3 =                     42 x 3 = 

	MULTIPLICATIONS 3

Sur ton ardoise, pose et calcule les multiplications ci-dessous :

    20 x 4 =                      11 x 4 = 

    32 x 4 =                      12 x 4 = 


	MULTIPLICATIONS 4

Sur ton ardoise, pose et calcule les multiplications ci-dessous :

    11 x 5 =                     42 x 5 = 

    20 x 5 =                     13 x 5= 




